= o
A & 0l & AF 2 E A A
20209 &= Z20lA LBHSH TRAYER XYL ~ T2 ALY of & 2 TH 1t
FN: EZANEER NGHLH
& ZOHAAL &X
ool AN YU CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CEMGEESR NG 14,066,961 12,982,795 1,084,166
s 1,944,000
< 102,000
Al 12,020,961
FOEHAAL AX 748,000 250,000 498,000
SANANE2IEE 2 748,000 250,000 498,000
2782 S3AE AAFH 2 FHAHE =8 I 748,000 250,000 498,000
401 Al HIZ 201 8] 748,000 250,000 498,000
01 A& HI 748,000 250,000 498,000
0472 BTNE AFHY L HUIHE 28
B (2XET) 748,000,000& 748,000
ANMOZRSIAEZNEI|EIEH 12,944,343 12,388,750 555,593
s 1,944,000
< 102,000
Al 10,898,343
AMBlZIStE S 283 EH| 10,760,554 8,959,172 1,801,382
s 1,944,000
< 102,000
Al 8,714,554
WESMD 2 2 HEAY 1,480,000 1,102,455 377,545
s 740,000
Al 740,000
401 A& HIZ 201 Y] 1,480,000 1,102,455 377,545
s 740,000
Al 740,000
01 A& HI 1,476,000 1,098,500 377,500
OB ES ANAHAHOIE & AtAHel S 3HA
WEMD 2 2 HEAY 480,000,000& 480,000
as 240,000
Al 240,000
O82s XOAUOH & AtAR & 3L WS
MDD 2 2 LAY 480,000,000& 480,000
as 240,000
Al 240,000
O3 UL EE & A2 S 34
SMD 2 2 HEAY 516,000,000& 516,000
as 258,000
Al 258,000
03 A& =2 THHI 4,000 3,955 45
OUsSAtD 2 2 HEAMY AIEFUH
4,000,000& 4,000
s 2,000
Al 2,000
MEEZ DSHA 15,000 0 15,000
401 A& HIZ 201 I 15,000 0 15,000




FA TZAYER NI
M AMRZRSIEEZNEIIBEY
AR SE T2E3 | )
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A& HI 15,000 0 15,000
QUdE2 NSHEMY 0IXNE EX 243
15,000, 000& 15,000
wWxtse ALY 302,160 0 302, 160
401 Al& Bl & 28I 302,160 0 302, 160
01 A& Hl 300,000 0 300,000
OS4tH QA el WRZE HAAY
100,000, 000& 100,000
O2HEE &= L MHHAY 200,000, 000& 200,000
03 A& =2 THHI 2,160 0 2,160
OuWXZ N AL 300,000,000& * 0.72% 2,160
MuUXZ NS ALY 560,000 563,528 A 3,528
s 280,000
Al 280,000
401 AIEBIZ 28I 560,000 563,528 A 3,528
s 280,000
Al 280,000
01 A& Hl 558,000 560,000 A 2,000
O2& LHEUXZ FH JIMIXZ AXAMY
279,000,000& * 1JH A 279,000
s 139,500
Al 139,500
O2E AMBQUAZOAM =H MU =Z &X
A 279,000,000& * 1JH 279,000
s 139,500
Al 139,500
03 Al 20 HI 2,000 3,528 21,528
O3dUXZ EX ALY 2,000,000& 2,000
s 1,000
Al 1,000
SaEd &AL 790,000 503,600 286,400
s 350,000
Al 440,000
401 Al& Bl 28I 790,000 503,600 286,400
s 350,000
Al 440,000
01 A& HI 790,000 500,000 290,000
OBFA SHON U HIAZZH J2HE >
= 90,000, 000& 90,000
Osds BdHA HaAMH 700,000, 000& 700,000
s 350,000
Al 350,000
THE M S A 3,429,234 3,429,234 0
401 Al BIZ 201 8] 3,429,234 3,429,234 0
01 A& HI 3,420,000 3,420,000 0




FN: EZANEER NGHLH
M ARG EEZWSIIBES
Sl ARIEEE S2EFTY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OLHMZ SN HHIAY 200,000, 000& 200,000
OXNEEM 258 ZA 400,000,000& 400,000
OSHXY XtdTZ M ZA 600,000,000& 600,000
ONEZ S 10Hd M IA
400,000, 000& 400,000
OZ2&=2 S 10Hd M IA
500,000, 000& 500,000
OFRENMZ & 10 Xt AT At
500,000, 000& 500,000
OUANMZ S 10Hd =M A
500,000,000& 500,000
o=2gclst U2 ZZ A 70,000,000& 70,000
OBSs7Y(H2l0l,=0) X MHB A
250,000, 000& 250,000
03 Al 2 THHI 9,234 9,234 0
O Xt = A Z At 3,420,000,000& * 0.27% 9,234
WEUTALE X £ WHAY 1,006,300 553,600 452,700
401 A& HIZ 201 I 1,006,300 553,600 452,700
01 A& HI 1,000,000 550,000 450,000
OusATAILES X L WA
300,000, 000& 300,000
oOLLSHZ FHIAY 200,000, 000& 200,000
OBFA AT 5030 & &5t &AM
500,000,000& 500,000
03 Al S HHI 6,300 3,600 2,700
OusAHdANE=s X E WHMAHY
1,000,000,000& * 0.63% 6,300
e 22 HAALS 302,160 350,694 A 48,534
401 A& HIZ 201 8] 302,160 350,694 N 48,534
01 A& HI 300,000 348,750 A 48,750
SEESE W & AtHE S 5 e &
HES AXIAY 60,000,000& * 50 2 300,000
03 Al S THHI 2,160 1,944 216
OU2AH BHET N AL
300,000,000& * 0.72% 2,160
EZANE A2 710,395 651,933 58,462
201 L2l 56,300 38,720 17,580
01 At 22l 1,140 0 1,140
O A LA AE S 2elbl
600,000& = 2JH = 95% 1,140
02 =224l 55,160 38,720 16,440
ORnS=HEIt0ct EI1E A
2,200,000 * 2000 & 44,000




2N
X ZH -
L= B

el

CZANEEF XS
ANESEE2 WS I EHE
ANRIEStE S 2&F |

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFclwET=oitc 2 A28 Ao
15,000& * 220 A = 12 3,960
ORI NEHXIMHe SRS
30,000& * 20004 « 123 7,200
401 Al HI R 201 I 654,095 613,213 40,882
01 A& HI 650,000 610,000 40,000
OE2oN FANEBAY
30,000,000& * 504 150,000
OFXNESE MHEAY 500,000,000& 500,000
03 Al =2 THHI 4,095 3,213 882
OEZANE RXZCA
650,000,000& * 0.63% 4,095
Heol2s729 HEAY 1,713,040 1,405,040 308,000
s 454,000
Al 1,259,040
401 A& HIZ 2018 1,713,040 1,405,040 308,000
as 454,000
Al 1,259,040
01 A& HI 1,708,000 1,400,000 308,000
O0ellEsaY e & |RAZCIAY
800,000,000& 800,000
OSBESSD S A RSS2 Ha
A 460,000,000 460,000
ras 230,000
Al 230,000
Os4xESsW S 3MA HEIESTE WA
A 448,000,000& 448,000
ras 224,000
Al 224,000
03 A& =2 THHI 5,040 5,040 0
O0elEsaY e & |RXZCAY
800,000,000& * 0.63% 5,040
LoESHA ALY 444,000 130,936 313,064
as 120,000
< 102,000
Al 222,000
401 A& HIZ 2018 444,000 130,936 313,064
s 120,000
< 102,000
Al 222,000
01 A& HI 443,000 130,000 313,000
ou=2el d2Y S 4ax LAEBS72Y A
A 239,000, 000& 239,000
s 119,500
Al 119,500
oug2x 2249 S 4L L2539 A
A 204,000, 000& 204,000
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SRAYES NANLD
N FSHERDE)| AL
MDEI|BEY

% S 4 14
CEE B (BH) - HBRAY - BAS %Eﬁ HR=2
ORAMAM NHEHUHHA &4 =2l (B0, of
X S) 5,000,000 5,000
ORAA NEAUHHA HIL2
40,000 * 12& 480
307 2Iz2t0| & 22,000 19,000 3,000
05 QIZtR &2 22,000 19,000 3,000
ORNFENHNL U PRASE 29
22,000,000 22,000
401 AlEHIZL 201 Y| 935,859 573,591 362,268
01 A& H| 930,000 570,000 360,000
OJINIE~&2AIHE 9 JEAEZ2 HH=2
AF(L=2.6km) 580,000,000& 580,000
Ozl 2 UHEAHE2 HHlZ2AH(L=0.82km
) 200,000,000& 200,000
OES WSHAtg32 ¢ NEHEZ HHZ
AH(L=0.68km) 150,000, 000& 150,000
03 Al 201 Y| 5,859 3,591 2,268
ONEHEZ FHIZA AIE 20|
930,000,000& * 0.63% 5,859
405 Ko SHI 2,000 0 2,000
01 AL 2 FF S| 2,000 0 2,000
ONEH(PAAE UHEHUHHA)
200,000& * 1004 2,000
NEAHANE X 22 AS 390,875 297,227 93,648
206 M 2 Hl 2,000 10,000 A 8,000
01 =4l 2,000 10,000 A 8,000
ONEH Z2I|F=2D| & AXZH 2
2,000,000& 2,000
401 Al HI L £ 0HHI 388,875 280,227 108,648
01 Al& H| 387,075 278,275 108,800
ONEHEZR SN 22| AFY (L=531km)
250,000,000 250,000
OXNEHEZH EAI ALY 30,000,000 30,000
OXNEH B2 EXIAH 600,0008 = 20X 12,000
OXNEH DECHME X HHIALE
200,000& * 10004 & 20,000
OMNEAHANEEZ EXY HUAY
150,000 = 10004 & 15,000
OXNEH ECHE AXAY
5,000,000& = 10902 50,000
ONEHEZ SASHCIAE AALEAHEA
250,000,000 * 4.03% 10,075
03 Al 20| 1,800 1,952 A 152




FN: EZANEER NGHLH
M ARG EEZWSIIBES
CHel: =MDEI|BEA CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXNENEZ FXZCIAMY AL
250,000,000& * 0.72% 1,800
NHAL LA E LS 2HAY 1,000 1,000 0
203 YR =&l 1,000 1,000 0
03 AIF=XH R =AY 1,000 1,000 0
Ot =2 1,000, 000& 1,000
T Z A 2tel 61,797 33,100 28,697
201 L2l 46,797 16,100 30,697
01 At 2t 2l 31,195 16,100 15,095
OEZAYER LRAEAN MZH
10,000& = 80% » 103 * 95% 7,600
OJI&XZRH WSAE WSO M
15,000& = 3008 * 95% 4,275
Oz 2eldosg Mz MEH
30,0003 = 3052 = 43| = 95% 3,420
oz W HHLY
100,000& *» 12H = 23| » 95% 2,280
O==z(Lict¥H, 2H E)
100,000& = 103l » 95% 950
O=ESEHMel 2FEI} =2
500,000& = 2JH At * 18] * 95% 950
OIAHZHZELE MHELZEEE=
20,0003 = 259 = 95% 475
OXNENR M28 A2 1,840
(OF-1=! 330,000& = 49k A« 95% 1,254
ocdg 154,000& * 4NIE = 95% 586
OSIEERXN H2a=a
25,0003 = 128 = 95% 285
OEZ2AY =& SEXE X
800,000& = 100 * 128 * 95% 9,120
02 2324l 15,602 0 15,602
oEAdE 2 0B T2 FX 22| 3,462
O4Zz8 szl
140,000& » 1228 1,680
O S ADBAtZ (DFinder) S Xl2t2lyl
17,820,000& * 10% 1,782
o3z &2 12,140
OxtaelBdz 900
-SE&i =¥ 350,000& =« 1CH 350
-st=x & ¥ 550,000& = 1CH 550
Oxtg =Xl 11,240
-5 &Xt 4,900,000& = 1CH 4,900
-st= Xt 4,300,000& =« 1CH 4,300
-Axxg U 1,275& = 8L » 200 2,040




2N
X ZH -
L= B

el

SRAYES NANLD
N FSHERDE)| AL
=MD EI| B EY

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
203 YR =&l 15,000 17,000 A 2,000
03 Al F=XH R =AH| 15,000 17,000 A 2,000
OXNYHe gR=2 9,000,000& 9,000
oAL T ot Y AL =7
6,000,000& 6,000
sSE 2% &3 733,000 1,912,000 A 1,179,000
2o TR S2EZHIA 130,000 0 130,000
401 Al HIZ 201 Y] 130,000 0 130,000
01 A&l 130,000 0 130,000
29 Tfel ST I AH(L=0.27km)
130,000, 000& 130,000
5 HF12 S2EZHIA 300,000 0 300,000
401 Al HI R 201 I 300,000 0 300,000
01 Al Hl 300,000 0 300, 000
02E MH12 =2 AIAHL=0.89%m)
300,000,000 300,000
SE~FHN T2 LT ZA 235,000 0 235,000
401 AIEHI L 2 0] 235,000 0 235,000
01 Al 235,000 0 235,000
OSH~FH2 T2 LY B AH(L=1.13km)
235,000,000 235,000
HZ=AN sOHEZZ JI2HE8(HE) 28 &9 50,000 60,000 210,000
401 AIEHI L 201 50,000 60,000 A 10,000
01 Al H 50,000 60,000 210,000
OFFAN sHEEZ JI2 ¥ FUlH= #HE =
g 29(3xERE) 50,000,000& 50,000
CERY AF(HEY) Y 18,000 0 18,000
401 Al HIZ 201 8] 18,000 0 18,000
01 A& HI 18,000 0 18,000
O=E285 6 (S0l Hel) 279 ZH (B
) 84 18,000, 000& 18,000
HY2AZH (T2 AIE 2 XSO n) 374,618 314,939 59,679
JlE &l 79,385 77,970 1,415
JlE&l 79,385 77,970 1,415
201 ¢er24] 30,502 31,238 AT736
01 At 22l 26,502 31,238 A4,736
Oll2gesdeE sl 500,0003 * 22H x 95% 10,450
OJIEZ Ul (S&Hl)
8,000 = 22 * 8% » 12&  95% 16,052
02 2324l 4,000 0 4,000




A== S9(3H) - NEAY - BaS ﬁlf& HD=2
O#A &Y KAl2eltl 4,000,000 4,000
202 04| 32,103 33,792 A 1,689
01 2L Y| 32,103 33,792 A 1,689
O J|I&EZ&HI
20,000& = 229 x 82 * 128 * 80% * 95% 32,103
203 ¥R =&H| 12,680 12,640 40
01 J| 2 2SHHR=XH| 6,000 6,000 0
OJ=H(43) 6,000,000 6,000
02 HJAJMAHRFAH| 2,480 2,440 40
OFIAINNMAR =Y 40,0008 * 62H 2,480
04 ENSHELREF=XH| 4,200 4,200 0
©J| =M (25210|5t) 350,000& = 12& 4,200
405 XtabF S| 4,100 300 3,800
01 AL 2 FF S| 4,100 300 3,800
OO0IsSA NS E 200,000& * 184 3,600
ONM2& 3D 500,000& * 1H 500
23l 295,233 236,969 58,264
Pals] 295,233 236,969 58,264
101 2121 4| 295,233 236,969 58,264
01 2% 234,561 229,874 4,687
OLBHE AlZ2tZ2R2E
10,509& * 62 = 30AI2F » 128 234,561
02 JIEt& E % 6,903 7,095 N 192
OFHJIEZE ANZ2UAIRFE
10,6433 * 1 = 30AI2t = 128 3,832
OAZISEIHAIIM(OIZE) A2HA2 RS
8,528 * 1Y x 30AI2t = 128 3,071
03 I HLs22 N 53,769 0 53,769
OWMEXY ShEQIA(LIZ) 48,393
oJl=3 31,096
-129 Xt 2,591,310& = 1¥ = 12& 31,096
o= 13,145
2544 129,560 * 1H x 128 1,555
-tESY 220,000& ~ 1€ * 12& 2,640
- I2ZeY
17,890 * 1 = 30AI2t = 128 6,441
==y 50,000& * 18 * 12& 600
ERSPNESE= 95,4403 x 1% » 20¢ 1,909
OY &SIyl 1,295,650& » 1H * 23] 2,592
O= &l 130,000& + 198 = 12& 1,560
O4UHEE NXHANEE= 5,111
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= A
N = 0] &F AF S & AN A
2020 & 20 A LHIG|H S 2AIYE2 X9ed) ~ S 2 ALY of & 2 TH
EX: EZ2ANEEE T2 A&
Ha: OTA Y ASHO JFEE TRISY 7S
S FRAM BACRY | IS CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
TZANEERE T2 AL 20,709,817 24,796,878 N 4,087,061
= 3,000,000
Al 17,709,817
ZAT Al CHH 24SHQ NG T 2uNEdY 25 17,591,603 21,605,614 A4,014,011
o= 3,000,000
Al 14,591,603
FRUN ZBAZTIZY XTI 2= 15,005,000 7,013,000 7,992,000
=} 3,000,000
Al 12,005,000
PHUE2~QFC ER2HE (2N ETHBS) 1,000,000 0 1,000,000
401 Al HI L £ 0HHI 1,000,000 0 1,000,000
01 Al& B 1,000,000 0 1,000,000
SAMES2~QF|IC ER2HE (2R E65)(L=5.0
km, B=17.5m) 1,000,000,000& 1,000,000
IOt X2 EEZ2A 1,505,000 0 1,505,000
401 AlEHIZL 2 0HY| 1,505,000 0 1,505,000
01 Al&EH| 1,500,000 0 1,500,000
OJI0ID X2 SHEZAH(HAZEZ2 404A, L=1.3km)
1,500,000,000& 1,500,000
03 AlE 21| 5,000 0 5,000
OJI0tRXE SHEZAF 5,000,000& 5,000
HMUGA =2 R2AIY 3,000,000 0 3,000,000
401 Al HI L 2 0HHI 3,000,000 0 3,000,000
01 Al& H| 2,990,000 0 2,990,000
ON&YA LdlEPRAY 2,990,000,000& 2,990,000
03 AlE 21| 10,000 0 10,000
ONYA Lol 2AIY 10,000,000& 10,000
DEZ SEHEZA 2,000,000 0 2,000,000
401 Al HI L £ 0HHI 2,000,000 0 2,000,000
01 Al&EH| 1,993,000 0 1,993,000
O2=2 =X ZAHL=0.09km, B=16—20m)
1,993,000,000& 1,993,000
03 Al 20| 7,000 0 7,000
Oz EHEZA 7,000,000 7,000
QEXGHAST HE Z2 At 7,500,000 0 7,500,000
o 3,000,000
Al 4,500,000
401 Al HI L 204 HI 1,000,000 0 1,000,000
o= 400,000
Al 600,000
01 Al&H| 695,000 0 695,000




FA TZAYER T 2AED
Ha: OTA Y ASHO JFEE TRISY 7S
©9 FRAM BAZRY XI| PE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2EXGHAE WA 2 AH(L=0.59%m, B=29.3m)
695,000,000 695,000
< 278,000
Al 417,000
02 Zeltl 300,000 0 300,000
O2E XGRS WA 2 AH(L=0.5%m, B=29.3m)
300,000, 000& 300,000
< 120,000
Al 180,000
03 Al 2 THHI 5,000 0 5,000
O2EXGHANE HE S A 5,000,000& 5,000
= 2,000
Al 3,000
403 XIS E X201 & 6,500,000 0 6,500,000
< 2,600,000
Al 3,900,000
02 SO 2SO HEHAHE X 2 &AL H 6,500,000 0 6,500,000
O2LEXGHANE HESA B3
6,500,000, 000& 6,500,000
= 2,600,000
Al 3,900,000
CHNS 24He E AFZA 2E 2,238,862 14,311,238 212,072,376
SAMY JHYERXN 24 234,000 857,000 A 623,000
401 Al HI L2 THHI 234,000 857,000 623,000
01 A& HI 234,000 857,000 A 623,000
OJEHAER 24 (12m0l &)
50,000,000& = 4Z X 200,000
OMLH BHE =2 34,000
Og="g =2 400,000& = 30Z X 12,000
OZ&EEIN =2
200,000& = 30Z Xl = 204DJ| =2 12,000
O8JI&Y ==& 50,000& = 602 X 3,000
OJIEgd &N e SIEEs2
500,000& = 14Z X 7,000
TRIEY ASTA &I 34,862 43,238 18,376
101 @14l 23,706 30,682 26,976
04 JI2ZtHZ22EE = 23,706 30,682 26,976
OEAXZ BRAERA B 23,706
OEATE BRERA 22Y
68,7203 * 298 + 262 » 63 21,441
O=0dz 23 21,440,640% * 4.5% 965
CLEEEE 23 21,440,640 * 1.5% 322
OdAMal E = 21,440,640 * 1.05% 226
OI0HLEEE 2
21,440,640 * 3.23% 693




2N

Ha: OTA Y ASHO JFEE TRISY 7S
Chel: CATDE 2AX2 L HHCA PH EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEPEEEEEC R
692,000& = 8.51% 59
201 ¢er24] 11,156 12,556 A 1,400
01 At 22l 7,600 9,782 A2,182
OA = TH &R D] 7,600
OANSMARI ASHE(SYZ, 2AXUH)
300,000& = 202 XI » 95% 5,700
ObX=&X 88 T3
20,000& = 1000H = 95% 1,900
02 2324l 3,556 2,774 782
Ozl+=&8 REZ 2,150 = 300# » 123 774
OAB(IIME) &2 500,000& = 23| 1,000
O 2 &DBAZ (Dfinder )& Al 2 2=t
148,500 * 123l 1,782
SdD~MEZLANC S2EFAMH 100,000 0 100,000
401 A& HIZ 201 I 100,000 0 100,000
01 A& HI 100,000 0 100,000
OS&W~MEZRAIACIZ2E & 22 & (L=0.52km,
B=10—25m) 100,000, 000& 100,000
EEE MYZ HESAM 400,000 0 400,000
401 Al HIZ 201 I 400,000 0 400,000
01 A& HI 400,000 0 400,000
g2 MY &2 AH(L=0.32km, B=20m)
400,000,000 400,000
atgatd MAZ SHIA 500,000 0 500,000
401 AIEHI L 20 500,000 0 500,000
01 A& Bl 500,000 0 500,000
oMY MUZ HE I AH(L=0.93kn, B=8~10
—18m) 500,000,000 500,000
=S OIS HAA DI AR Z20H4 800,000 0 800,000
401 AIEHI L 2 CHYI 800,000 0 800,000
01 A& HI 800,000 0 800,000
OXESES OIFBSA~H DS HAMZ E2ME (L=
0.34km, B=12m) 800,000,000& 800,000
=S EE Y2 ML S A 170,000 0 170,000
401 Al BIZ 2018 170,000 0 170,000
01 A& HI 170,000 0 170,000
OF=S EH XYZ WA 3 AH(L=0.54km, B=15
m) 170,000, 000& 170,000
E2 ANE ®X2e 147,741 181,376 A 33,635
IR (E=2)22] 47,741 21,376 26,365




2N
X ZH -
L= B

el

F1 oo

ZANYER T2AIE
A Al CHH A=A
=

A4 szl

ot

or X

[l L}

]

C2usy 2

B

- _ _ RE]

N X8-S (3H) - MEAY - B %Ei HR=2
201 Bt 45,441 19,376 26,065
01 AP 22| H| 41,893 19,376 22,517

O=2F M 2Zelx=x2 27,134
ONEY 228
885,400& * 30E Xl * 95% 25,234
OSJIEE =42 50,0008 ~ 402 Xl * 95% 1,900
O=ZKSMAAIE SEWMD XA QLA 1,269
ozss 1508 * 6,0000§ * 95% 855
[@MPNPS] 72,600& * 6 A * 95% 414
O=28Mit2e 252
70,000 * 300H * 95% 1,995
OAE FAs FHLY
500,000& = 53] * 95% 2,375
O=ZSMA & T2HAEYUR I XS
800,000& * 1CH » 128 = 95% 9,120
02 Z2=2=24%4| 3,548 0 3,548
OXATZ O A0H0E Kb
550,000& = 2JH 1,100
O=28MA & T 2HELLR2 XX SFH|
1,275 = 82lH * 240 2,448

203 R F & 2,000 2,000 0

03 AIZHF=AH 2 F X H| 2,000 2,000 0
OFE2MHE HR=X 2,000,000 2,000

405 KHoHFE S HI 300 0 300

01 JHMHY 2 E F S H 300 0 300
OdIoIld Hels&EI ¢ 300,000 = 10 300
S 2elAlAE 2e 100,000 160,000 A 60,000

201 et 9| 100,000 160,000 A 60,000

02 =224 H| 100,000 160,000 A 60,000
OJI2E0ots Ze|AAE KX 22l
100,000,000 100,000

NS ZEUAS Qs JBAIE &= 200,000 100,000 100,000
LHH AX™ DX HSEZ A 200,000 0 200,000
401 Al HI L £ 0HHI 200,000 0 200,000
01 Al& B 200,000 0 200,000

OLLHY HAFMDIZ HH2AH(L=120m, B=15m)
200,000,000 200,000
HESAAH| (E2 AL D) 59,064 72,707 N 13,643
Jlddl 59,064 72,707 N 13,643
Jl2 &4l 59,064 72,707 N 13,643
201 LBt ]| 28,051 39,415 A 11,364




FA TZAYER T 2AED
M AFSAAU(ZTR2AIED)
& 123l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 25,297 32,424 NT 27
OJlz2gRAZ | 500,000 » 218 = 95% 9,975
o=sgd (JIEZHl)
8,000 » 21 = 8 » 12& » 95% 15,322
02 =224l 2,754 6,991 A4, 237
OHF AR EHl KAl 2,754
O=AtD| 19,415,000& = 1CH * 8% 1,554
OEZEZ2HZ=ZEH 15,000,000& = 1CH * 8% 1,200
202 O4dl 26,813 24,192 2,621
01 = LH 4 di 26,813 24,192 2,621
O©JI=ZH
20,0003 * 21 » 82 « 12& » 70% * 95% 26,813
203 ¥ S =&l 4,200 3,600 600
04 FANSEHE=LH| 4,200 3,600 600
©J| & H (2521 013t) 350,000&  12& 4,200
HRES(SZ A& 3,059, 150 3,108,259 A 49,109
WEHHXZ 3,059, 150 3,108,259 A 49,109
HEHAH X = 3,059, 150 3,108,259 A 49,109
705 =3 Acl3&E 3,059,150 3,108,259 A 49,109
O1d==a=z4s 3,000,000 3,000,000 0
OFY-2S, RIS, HYBR-HYRY &
ZHHE s8Xi3 B=a& 3,000,000, 000& 3,000,000
02 Ol === 0l Xt & & 59,150 108,259 A 49,109
Osg-~-2s, E2~tY, 4HISR~-FA22t &
e X3 Olktaet 59,150,000 59,150




> A
A & 0l & AF 2 E A A
20209 &= Z20lA LBHSH TRAYER XYL ~ T2 ALY of & 2 TH 1t
FA: TZALER SHE YD
M UHL SMots etAE MAEGHA
& 32 S HWRE St s 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
C2ASER SHE YL 16,750,770 21,223,542 N4 AT2,772
=2 3,378,500
< 1,450,000
Al 11,922,270
A BHGl=e MG MABA 16,702,682 21,168,172 A4,465,490
= 3,378,500
< 1,450,000
Al 11,874,182
=32 St HWRE otE sX2e 4,978,995 3,865,672 1,113,323
= 1,377,000
Al 3,601,995
HAEE &= ot 2e| 1,848,896 1,939,524 290,628
201 2et24d] 733,099 752,320 219,221
01 At 22l 516,619 539,728 223,109
O1A 1ot AE2S EE2 % =23 8,741
O2 Xt 6,000& = 50000 » 95% 2,850
O&3t 15,0003 = 5000 = 95% 713
oz 500& = 2,00008 » 95% 950
OM= % #A&E5  2,000& * 5000 * 95% 950
OZEANM 4,000& * 50004 * 95% 1,900
O8 5 70,0003 = 501 = 95% 333
O& M 100,000& = 531 = 95% 475
O2YIg s 200,000 = 3 = 95% 570
OR4A 2H0IEAY B
70,000 = 140 * 43 * 95% 3,724
oXJIctE e HEx2 (2, &)
200,000& » 11JHA = 128 = 95% 25,080
OXIIE MII&H HIAM(RAAEZSU, 22
B ==2 2&Il) 400,000 * 2902 * 95% 760
Of+=Z RIFHEA =2
100,000 * 5JHA = 128 = 95% 5,700
ORHAE RS> A2 (S=250HEZA)
82,000,000& * 95% 77,900
ORHE FIAE=> BSUZ (2T ZAH)
27.37& = 80,000 * 180 =* 95% 374,422
OZHl AXE (24D, €2)
500,000 = 20CH = 95% 9,500
Ootd 2l XA & NEHHE IS
780,000& = 12& » 95% 8,892
OHAZZIH(EST) RAE=
600,000 = 95% 570
Oz =€ 1,330
OJIzAactd2e|/AdE =Y
100,000& = 4H * 23| * 95% 760
O38dE &2
30,0003 = 59 = 43| = 95% 570




FA: TZALER SHE YD
M UHL SMots etAE MAEGHA
& 32 S HWRE St s 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 216,480 212,592 3,888
Oxg ==l 1,275& = 82lE * 240 2,448
O/IDB(W+T, 42, 240, 2, 3F
a s) 150,000& * 63M A 123 113,400
oust+=sz(stdd, s+U)
1,000& » 130& = 5MA = 128 7,800
OSHRB(=F, =2, CCTV, ¥ 5)
72,0003 * 38 A * 128 32,832
OGSt AIE EHl =X 24
300,000& * 200K £ 60,000
203 YR =2l 2,000 2,000 0
03 A BFAH S =AY 2,000 2,000 0
Ootd& I 2= 2,000,000& 2,000
206 M= Hl 12,000 12,000 0
1T M=l 12,000 12,000 0
OGtEAIZ 2 2SS (SEXN, LM, d5S
2, 8AEE 8) 12,000, 000& 12,000
305 & =S 2,000 2,000 0
o1 Hia=s 2,000 2,000 0
OotEAIEE ME2Z Q6 TIoHHH &
1,000,000& =* 23] 2,000
401 AIEHIZL 2CHYI 899, 169 1,001,204 A 102,035
01 A& Hl 893,553 995,136 A 101,583
OGtE IR I ALY 329,553
Otz EI| A (5IHSF)
4503 = 351,250m = 13| 158,063
oza=3dd ¥ &M=
2,300& = 11,300m * 13| 25,990
2l |RoiaES HMHA
550& = 150,000m = 13| 82,500
ORud EX SoAM HHIAL
4503 = 140,000m = 13| 63,000
Oot&d FA &2 ALY 564,000
Ootd A (=2, EL ANEEES)
150,000, 000& 150,000
OAN&XHH &L RAEH (Y2, WG,
2t 5) 100,000, 000& 100,000
Ootd HIANEE B2 (H=F B2, 2
HAE S ) 15,000, 000& 15,000
ORad AN (SEY 2 ot Ha
g) 270,000, 000& 270,000
OR4A USALE AU (LSEH L A
oAl 8500 4) 8,000,000& 8,000
ORadE SHAE R 21,000,000& 21,000
03 AlE 2 THHI 5,616 6,068 A 452




EX: E2AIE 22 of™ 2t
M NADY ENHols e MHSIA
SRl AABY HOY RS otd RA 22 (29l 8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Ootd 22| 891,293,000 * 0.63% 5,616
403 XX SRS K20| & 200,628 170,000 30,628
02 2| 2SOUeA=2EAEAS Y 200,628 170,000 30,628
OI+T ()l (HE, SY, B, 44
) 50,157,000 * 404 2~ 200,628
SlEGHRMY I ASALE 110,000 94,286 15,714
= 77,000
Al 33,000
401 AlEHIZL 2 0HY| 110,000 94,286 15,714
= 77,000
Al 33,000
01 Al& H| 110,000 94,286 15,714
Odtdat7 MY D BSALS 110,000,000 110,000
= 77,000
Al 33,000
AN NEHNEZ, I 0|R*S AFY 1,000,000 0 1,000,000
401 Al HI L 2 0HHI 1,000,000 0 1,000,000
01 Al& H| 992,860 0 992,860
ORAMA INENEZ, AtZHZ 0|3 ALY
992,860,000 992,860
03 Al 201 Y| 7,140 0 7,140
ORAMA INENEZ, AtHZ 0|3 ALY
7,140,000 7,140
=2Jlotd S X 2ClAtY 1,300,000 1,344,000 A 44,000
= 1,300,000
201 et 97,000 90,000 7,000
= 97,000
02 2324 97,000 90,000 7,000
022322 27,000
Oti£=2 s8e2
88,000 * 200HA * 12&€ 21,120
= 21,120
Otl&=2 d8IIe3 490,000& = 12&€ 5,880
= 5,880
O A& Z&HI KX 4| 70,000,000 70,000
= 70,000
401 AlEHIZL 201 Y| 1,203,000 1,254,000 A51,000
= 1,203,000
01 Al&H| 1,199,000 1,250,000 A 51,000
O=2IIotd SA 22 ALY 1,199,000,000& 1,199,000
= 1,199,000
03 AlE 20| 4,000 4,000 0
O=JIotd S22 ALY 4,000,000 4,000
= 4,000




FA: TZALER SHE YD
M UHL SMots etAE MAEGHA
& 32 S HWRE St s 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
d=3 MEHIAMSE LA 185,000 0 185,000
401 Al HI K 201 I 185,000 0 185,000
01 A& Bl 185,000 0 185,000
OH=S MEHAMNBY ZHAY
185,000, 000& 185,000
SR MAH(SHA) 2el 3,648 3,671 A 23
201 Let24dy] 3,648 3,671 A23
01 At 22/l 423 446 A23
O=2®ML AAE2Z 20 XM M 423
OF=g—%= 150& = 2,00000 » 95% 285
OLdX M 72,6003 * 29FA * 95% 138
02 =224l 3,225 3,225 0
O=7THL 2Helx==3 3,225
OZH=EY =82 545,000& = 5 X 2,725
O8JIEEY ==& 50,000& = 10Z X 500
=t FUIAL (STE B A 531,451 484,191 47,260
307 glz2+0ol & 276,000 254,261 21,739
02 IZtE A AHEE 276,000 254,261 21,739
OXsd HEz7Y(29Y) 266,000,000 266,000
OotAM2el Fatx RAZe L LA(HEH)
10,000, 000& 10,000
401 AIEHI L 20 166,071 150, 120 15,951
01 A& HI 166,071 150,120 15,951
OYZEHX A FOSAA (2N, HGH)
166,070,940& 166,071
402 RI2tXt20l ™ 89,380 79,810 9,570
01 212t 2 AL E = (REM ) 89,380 79,810 9,570
o4&l Ot2s 23 2 eI 8Ag(0Hd
&) 22,345,000 22,345
0B8R RQULBAE SIMY L HSEB
KA (Ot &) 22,345,000& 22,345
O=%822| CCTVEXI, s+=3AL ¥ 0=tz &
CIZAHAE(OtEHE) 22,345,000& 22,345
OFE22l sJ1H7Y XNAS (0t )
22,345,000& 22,345
MHoH2FEH etMst ot & HH] 9,621,487 13,000, 300 23,378,813
= 2,001,500
< 150,000
Al 7,469,987
=2 X7 EHMFAE XA 4,003,000 4,998,500 A 995,500
= 2,001,500
Al 2,001,500




2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
401 Al& Bl & 28I 4,003,000 4,998,500 A 995,500
= 2,001,500
Al 2,001,500
01 A& HI 3,995,000 4,498,500 A 503,500
=37 SE=HMFAE XA
3,995,000, 000& 3,995,000
= 1,997,500
Al 1,997,500
03 AIE 2 0HHI 8,000 0 8,000
=37 =HFAE XA
8,000,000& 8,000
= 4,000
Al 4,000
S=MFAE FA22 107,425 99,960 7,465
201 £B-2dH| 67,425 69,960 A 2,535
01 At 22l 2,625 2,760 A 135
OUEXT S+HEAL @B =
= 330,500& = 6& = 95% 1,884
OMLRX T 2F=MFRAIE MI|dH2AE|HE =
= 130,000& = 6& = 95% 741
02 3323l 64,800 67,200 A 2,400
O A& EHl =Xl 5,000,000& = 63l 30,000
ozE2= & HA 34,800
ONIIe3 2,500,000& * 204 = 6 30,000
OSdsld AEE
200,000 * 202 = 128 4,800
401 Al I 28I 40,000 30,000 10,000
01 A& HI 40,000 30,000 10,000
OS=MEAE 2tel 20,000,000 = 23l 40,000
X gataE X 22| AL 150,000 204,000 A 54,000
< 150,000
401 A2 HIZ 2 THY| 150,000 204,000 A 54,000
< 150,000
01 A& HI 150,000 204,000 A 54,000
OXgotd S 2elAtd 150,000, 000& 150,000
= 150,000
A0t RANEF=AS 200,000 200,000 0
401 AIEHIZ 28I 200,000 200,000 0
01 A& Hl 200,000 200,000 0
OActd RXE=Hl 40,000,000& = 53| 200,000
HHAGHA FHIALY (&2 100,000 372,000 A 272,000
401 Al HI & 28I 100,000 372,000 A 272,000




2N
X ZH -
L= B
el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 Al 100,000 369,322 269,322
OHFAGHE FHIAY 100,000, 000& 100,000
SaAoE HUIALY (HEH) 100,000 372,000 A 272,000
401 A& HIZ 2018 100,000 372,000 A 272,000
01 A& 100,000 369,322 £ 269,322
O3t Aotd HUlALY 100,000, 000& 100,000
FEA0HA FHIALR (X&) 1,200,000 600,000 600,000
401 AIEHI L 2] 1,200,000 600,000 600,000
01 Al&HI 1,200,000 596,220 603,780
O3 4otd HUIALY 1,200,000, 000& 1,200,000
SHLGHE FHUIALR (X&) 1,000,000 600,000 400,000
TAZHIZXE0Y 1,000,000 600,000 400,000
01 A& HI 1,000,000 596, 220 403,780
O&&EA0HE HUIALY 1,000,000, 000& 1,000,000
AFOE AGHA HHIALY (X&) 2,100,000 734,000 1,366,000
401 Al HIZ 201 Y| 2,100,000 734,000 1,366,000
01 A& HI 2,100,000 729,376 1,370,624
Ot ATHE FHIAY 2,100,000, 000& 2,100,000
god HASX P W WL Atg 355,000 0 355,000
401 AIEHI L 2 CHYI 355,000 0 355,000
01 A& HI 252,000 0 252,000
Og&Md F=AEXT W MWL SA
252,000, 000& 252,000
02 2teltl 103,000 0 103,000
OLMH HAABXT DY WL DA
1,212,000,000& * 8.4983% 103,000
= HAoE Hul AR (XHA) 200,000 0 200,000
401 Al HIZ 2018 200,000 0 200,000
01 A& HI 200,000 0 200,000
O3HA6tA ZHIALY (KHAI) 200,000, 000& 200,000
HFA AGHEMEX NEEZH HMIASA 18,000 0 18,000
401 AIEHI L 201 18,000 0 18,000
01 A& HI 18,000 0 18,000
OFFA ActHEUEX XNSEEH oM DA S
& 18,000, 000& 18,000
Ol23H WHAAGHE HHIS A 13,596 0 13,596
401 A& HIZ 2018 13,596 0 13,596
01 A& HI 13,596 0 13,596




PN CIMNYER SIS

M UHL SMots etAE MAEGHA
&2 Mo2RH ¢tdE otA HH| (Sl & &)
= - 4 14
SA-EB - BAEH) - NRAY - BHES 0l & o e HIDE2
OD2Y WatActe EHISAH 2AEAHES
308,000,000 = 4.414% 13,596
FYs tSAcHE ZHISA 10,486 0 10,486
401 Al HI K 201 10,486 0 10,486
01 A& HI 10,486 0 10,486
FYS IS AcHE HUISAH 2AEHES
220,000,000& =* 4.766% 10,486
SAANY BHY DIX=8X 24 63,980 79,840 A 15,860
201 L Er2A | 3,980 4,840 A 860
01 AtR 22l | 3,980 4,840 A 860
OB&4YRZ=A T2 K2l
130,000& * 128 1,560
OBAMYREX T2y Y|
2,420,000& » 19X 2,420
401 AIEHI L 201 60,000 75,000 A 15,000
01 A& HI 60,000 75,000 A 15,000
OAotd OIXNSEX 24l 60,000
O=24H & =28 S 60,000,000& 60,000
A XtAHO0l E2Eot= MEioHE =4 2,102,200 4,302,200 A2,200,000
=) 1,300,000
Al 802,200
SAotd MEfSIE SJ ALY 2,000,000 4,200,000 A2,200,000
=) 1,300,000
Al 700,000
401 A& HIZ 2018 2,000,000 4,200,000 A2,200,000
=) 1,300,000
Al 700,000
01 A& HI 1,993,000 4,190,000 A2,197,000
O4std MEiotd =S A 1,993,000,000& 1,993,000
= 1,295,450
Al 697,550
03 Al 2 0HHI 7,000 10,000 A 3,000
OX&3td MEjotd =SRAAY 7,000,000 7,000
< 4,550
Al 2,450
dEiotd SAE AZ2LEHE 102,200 102,200 0
401 A& HIZ 201 I 102,200 102,200 0
01 A& HI 102,200 102,200 0
O22d MHGE SFAY M= ZLHE 2
A(iEx) 40,000,000& 40,000
OESd MEiold SFAMY M= ZLIHE 8
AiEs) 62,200,000 62,200
HYL2IZH(E2AEE2S ot L TH 48,088 55,370 ANT,282




- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
JlE&dl 48,088 55,370 NT,282
Jl2&Hl 48,088 55,370 NT,282
201 et d| 21,033 21,916 A\ 883
01 AP 2t 2| bl 21,033 21,916 A 883
OJl2gLsaAd|
500,000& = 18 = 95% * 97% 8,294
oO3EHI(J1=ZHl)
8,000 » 18YH = 82 * 12& x 95% * 97% 12,739
202 044 23,455 23,904 AN 449
01 2L Y| 23,455 23,904 N 449
OJl&=Z&3 |
20,000 % 17 * 82 128 % 70% * 95% * 21,055
OEHHHYI 200,000& ~ 1€ * 12€& 2,400
203 €2 F=&d| 3,600 3,600 0
04 EANSIELRF=XH| 3,600 3,600 0
©J|Z= M (20021 0]56}H) 300,0008  12& 3,600




